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t tests - Means: Wilcoxon signed-rank test (matched pairs)
Options:	A.R.E. method
Analysis:	Post hoc: Compute achieved power 
Input:	Tail(s)	=	Two
	Parent distribution	=	Laplace
	Effect size dz	=	1.0246631
	α err prob	=	0.008493115
	Total sample size	=	30
Output:	Noncentrality parameter δ	=	6.8736490
	Critical t	=	2.7555126
	Df	=	44.0000000
[bookmark: _GoBack]	Power (1-β err prob)	=	0.9999627
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t tests - Means: Wilcoxon signed-rank test (matched pairs)

Tail(s) = Two, Parent distribution = Laplace,

Effect size dz = 1.02466, α err prob = 0.00849312
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